


Similar to Distance (d) vs Time (t) graphs, there are Speed (v) vs. 
Time (t)graphs used to represent the speed of an object. Plotting 
data on these graphs is very similar to plotting data on a position 
(d) vs time (t) graph. 

However the line/slope on 
a (v) vs (t) graph 
represents acceleration



Describe the motion of the objects:



Which object has the greatest 
acceleration, the line 
represented in yellow or blue?

Describe the 
motion of the 
object:





Speed ­ Time Graphs
A speed­time graph can give you information about the 
acceleration of an object. You can find acceleration the 
same as finding velocity from a d ­ t graph (find the slope)

Velocity ­ Time graphs also communicate information about 
the distance traveled by the object.  The area between the 
graph and the time­axis is the distance traveled.  The next 
page shows that relationship through an example.





p. 393 #1, 4, 5, 11

Analyzing Velocity ­ Time Graph Example

What is the acceleration during the first 10 seconds? Final 
10 seconds? 

Calculate the distance traveled during each time interval.

Calculate the average velocity for the full 30 seconds.



Attachments

Answers Extra Practice Acceleration WS.notebook

answers acceleration worksheet.notebook




annotationmetadata/metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=4CC79D61-FA13-4099-B64D-E24494809D4F  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:25:48  1.0  LOMv1.0 final






images/equation.png

_22m/s—4m/s _18m/s

3s 3s

—6m/s*








images/equation(28055).png

V.

» —V,

\  250m/s—80m/s 17m/s

= =5.6s
a 3.0m/s? 3.0m/s?

=









annotationmetadata/metadata(1).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=3AFE2FD1-7109-4EC6-80DE-9E6C33B74D68  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:30:59  1.0  LOMv1.0 final






images/equation(1).png

_8m/s—0m/s_8m/s

3s 3s

=3m/ s*








annotationmetadata/metadata(2).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=C1F2DA28-81F1-4710-90C9-A15B07413A92  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:33:08  1.0  LOMv1.0 final






annotationmetadata/metadata(3).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=B313EDAA-B32C-4648-8146-7C01832355F8  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:33:20  1.0  LOMv1.0 final






images/equation(13966).png

v, =v, —at
v, =3OM/S—(2.51’}1/S2 ><8S)
v, =30m/s—-20m/s

v, =10m/s








annotationmetadata/metadata(4).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=CBC82668-900F-4C4D-9174-F1B0F277954C  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:38:34  1.0  LOMv1.0 final






images/equation(3).png

v, =v, +ai
v, =10m/s+(50m/s2x3s)

v, =10m/s+150m/s
v, =160m/s








images/equation(13438).png

P _Om/s-300m/s -300m/s

=75s
a —4.0m/ s* —4.0m/ s*









annotationmetadata/metadata(6).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=81E069A0-5F74-412E-B6CC-BEB5B8033FCF  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:43:57  1.0  LOMv1.0 final






images/equation(16151).png

v, =v, +at
v,=2.0m/s +(4.Om/s2 ><5.0s)
v, =2.0m/s+20m/s

v, =22m/s








annotationmetadata/metadata(7).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=30C41EAC-92BF-41EB-AB00-602F1B58505C  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:46:40  1.0  LOMv1.0 final






images/equation(5).png

a2V _45m/s—85m/s —40m/s

t 45s 455

=-9m/s?









annotationmetadata/metadata(8).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=5B23527B-7C18-4A5A-8C1F-877CD512ECA6  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:48:58  1.0  LOMv1.0 final






images/equation(6).png

v, =y, +at
v, =25m/s+(7.()m/s2 x6.()s)
v, =25m/s+42m/s

v, =6Tm/s








annotationmetadata/metadata(5).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=75FD5D5F-3472-427C-90A4-BF176DD7ACF5  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:43:47  1.0  LOMv1.0 final






images/equation(18989).png

v,=v, —al
v, :21m/s—(4.6m/s2 x4.55)

v, =2lm/s—-20.Tm/s
v, =030m/s








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1                                     






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=C054463F-20A5-4089-9E7B-538D36854CB4  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-09-30T14:25:22  1.0  LOMv1.0 final






preview.png









metadata.rdf

 







page0.svg

  Sep 30-2:25 PM     1.  A roller coaster car rapidly picks up speed as it rolls down a slope.  As it starts down the   slope, its speed is 4 m/s.  But 3 seconds later, at the bottom of the slope, its speed is 22 m/s.    What is its  average acceleration ?    v 1  = 4 m/s   t = 3 s   v 2  = 22 m/s     2.  A car accelerates at a rate of 3.0 m/s 2 .  If its original speed is 8.0 m/s,  how many   seconds will it take  the car to reach a final speed of 25.0 m/s?    a = 3.0m/s 2   v 1  = 8.0m/s   v 2  = 25.0m/s     3. A cyclist accelerates from 0 m/s to 8 m/s in 3 seconds. What is his acceleration? Is this  acceleration    higher than that of a car which accelerates from 0 to 30 m/s in 8 seconds?    v 1  = 0m/s   v 2  = 8m/s   t = 3s 
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  Sep 30-2:32 PM     6. A car traveling at a speed of 30.0 m/s encounters an emergency and comes to a complete stop . How   much time  will it take for the car to stop if its rate of deceleration is -4.0 m/s 2 ?    4. The final speed of a car is 30m/s.  The car is accelerating at a rate of 2.5m/s 2  over an 8   second period of time.  What is the  initial speed  of the car?    v 2  = 30m/s   a = 2.5m/s 2   t = 8s   v 1  = ?             5. If a Ferrari, with an initial velocity of 10 m/s, accelerates at a rate of 50 m/s 2  for 3   seconds, what will its  final velocity  be?    v 1  = 10m/s   a = 50m/s 2   t = 3s   v 2  = ?     v 1  = 30.0m/s   v 2  = 0m/s   a=-4.0m/s 2   t = ? 
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  Sep 30-2:43 PM     7. A cart rolling down an incline for 5.0 seconds has an acceleration of 4.0 m/s 2 . If the cart has a   beginning speed of 2.0 m/s, what is its  final speed ?    t = 5.0s   a = 4.0m/s 2   v 1  = 2.0m/s   v 2  = ?        8. A parachute on a racing dragster opens and changes the speed of the car from 85 m/s to 45 m/s   in a period of 4.5 seconds. What is the  acceleration  of the dragster?     v 1  = 85m/s   v 2  = 45m/s   t=4.5s     9. A motorcycle traveling at 25 m/s accelerates at a rate of 7.0 m/s 2  for 6.0 seconds. What is the   final speed  of the motorcycle?    v 1  = 25m/s   a=7.0m/s 2   t=6.0s   v 2  = ? 
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  Sep 30-2:49 PM     10. A skier accelerates at a rate of 4.6m/s 2  for 4.5s. What is his  initial speed  if   his final speed is 21m/s?    a= 4.6m/s 2   t=4.5s   v 2 =21m/s   v 1 = ?   
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